$$Z^{(k+1)} - \tilde{z}^{*} \|_{L^{\infty}}^{2} = || Z^{(k)} - K_{k} T^{(k)} - \tilde{z}^{*} ||_{L^{\infty}}^{2}$$

$$= || (Z^{(k)} - Z^{*}) - K_{k} T^{(k)} ||_{L^{\infty}}^{2}$$

$$= || (Z^{(k)} - Z^{*}) - K_{k} T^{(k)} ||_{L^{\infty}}^{2}$$

$$= || Z^{(k)} - Z^{*} ||_{L^{\infty}} + K_{k}^{k} || T^{(k)} ||_{L^{\infty}}^{2} - 2K_{k} T^{(k)} (Z^{(k)} - \tilde{z}^{*}) = || Z^{(k)} - \tilde{z}^{*} ||_{L^{\infty}} + K_{k}^{k} - 2K_{k} T^{(k)} (Z^{(k)} - \tilde{z}^{*}) = || Z^{(k)} - \tilde{z}^{*} ||_{L^{\infty}} + K_{k}^{k} - 2K_{k} T^{(k)} (Z^{(k)} - \tilde{z}^{*}) = || Z^{(k)} - Z^{*} ||_{L^{\infty}} + K_{k}^{k} - 2K_{k} T^{(k)} (Z^{(k)} - \tilde{z}^{*}) = || Z^{(k)} - Z^{*} ||_{L^{\infty}} + K_{k}^{k} - 2K_{k} T^{(k)} (Z^{(k)} - \tilde{z}^{*}) = || Z^{(k)} - Z^{*} ||_{L^{\infty}} + K_{k}^{k} - 2K_{k} T^{(k)} (Z^{(k)} - \tilde{z}^{*}) = || Z^{(k)} - Z^{*} ||_{L^{\infty}} + K_{k}^{k} - 2K_{k} T^{(k)} (Z^{(k)} - \tilde{z}^{*}) = || Z^{(k)} - Z^{*} ||_{L^{\infty}} + K_{k}^{k} - 2K_{k} T^{(k)} (Z^{(k)} - \tilde{z}^{*}) = || Z^{(k)} - Z^{*} ||_{L^{\infty}} + K_{k}^{k} - 2K_{k} T^{(k)} (Z^{(k)} - \tilde{z}^{*}) = || Z^{(k)} - Z^{*} ||_{L^{\infty}} + K_{k}^{k} - 2K_{k} T^{(k)} ||_{L^{\infty}} + K_{k}^{k} +$$

 $- v^{(n)}(Ax^{(h)}-b) + v^{*}(Ax^{(h)}-b)$



 $= \| \mathcal{Z}^{(K)} Z^{*} \|_{2}^{2} + \mathcal{K}_{K}^{L} \| [T^{(K)} \|_{2}^{2} - 2\mathcal{K}_{K}^{T} T^{(K)} (\mathcal{Z}^{(K)} - \mathcal{Z}^{*}) = \| \mathcal{Z}^{(K)} \mathcal{Z}^{*} \|_{2}^{2} + \mathcal{K}_{K}^{K} - 2 \frac{\mathcal{K}}{\mathcal{K}_{K}} \frac{1}{|T^{(K)} \|_{2}} = \| \mathcal{Z}^{(K-1)} \mathcal{Z}^{*} \|_{2}^{2} + \mathcal{K}_{K}^{K} - 2 \frac{\mathcal{K}}{\mathcal{K}_{K}} \frac{1}{|T^{(K)} \|_{2}^{2}} = \| \mathcal{Z}^{(K-1)} \mathcal{Z}^{*} \|_{2}^{2} + \mathcal{K}_{K}^{K} - 2 \frac{\mathcal{K}}{\mathcal{K}_{K}} \frac{1}{|T^{(K)} \|_{2}^{2}} = \| \mathcal{Z}^{(K-1)} \mathcal{Z}^{*} \|_{2}^{2} + \mathcal{K}_{K}^{K} - 2 \frac{\mathcal{K}}{\mathcal{K}_{K}} \frac{1}{|T^{(K)} \|_{2}^{2}} = \| \mathcal{Z}^{(K-1)} \mathcal{Z}^{*} \|_{2}^{2} + \mathcal{K}_{K}^{K} - 2 \frac{\mathcal{K}}{\mathcal{K}_{K}} \frac{1}{|T^{(K)} \|_{2}^{2}} = \| \mathcal{Z}^{(K-1)} \mathcal{Z}^{*} \|_{2}^{2} + \mathcal{K}_{K}^{K} - 2 \frac{\mathcal{K}}{\mathcal{K}_{K}} \frac{1}{|T^{(K)} \|_{2}^{2}} = \| \mathcal{Z}^{(K-1)} \mathcal{Z}^{*} \|_{2}^{2} + \mathcal{K}_{K}^{K} - 2 \frac{\mathcal{K}}{\mathcal{K}_{K}} \frac{1}{|T^{(K)} \|_{2}^{2}} = \| \mathcal{Z}^{(K-1)} \mathcal{Z}^{*} \|_{2}^{2} + \mathcal{K}_{K}^{K} - 2 \frac{\mathcal{K}}{\mathcal{K}_{K}} \frac{1}{|T^{(K)} \|_{2}^{2}} = \frac{1}{|T^{(K)} \|_{2}^{2}} + \frac{1}{|T^{(K)} \|_{2}^{2}} = \frac{1}{|T^{(K)} \|_{2}^{2}} + \frac{1}{|T^{(K)} \|$ $= \|Z^{(u)} - Z^{*}\|_{2}^{2} + \sum_{i=0}^{k} Y_{i}^{2} - \zeta \sum_{i=0}^{k} \frac{Y_{i}}{\|T^{(i)}\|_{1}^{2}} + \sum_{i=0}^{k} Y_{i}^{(i)} - \zeta \sum_{i=0}^{k} \frac{Y_{i}}{\|T^{(i)}\|_{1}^{2}} + \sum_{i=0}^{k} \frac{Y_{i}}{\|T^{(i)}\|_{1}^{2}} +$ $T^{(k)T}(z^{(k)}-z^{*}) = (3^{(k)}+A^{T}v^{(k)}+PA^{T}[Ax^{(k)}-b]]^{T}(x^{(k)}-x^{*}) + (b-Ax^{(k)})^{T}(v^{(k)}-v^{*}) = 9^{(k)T}(x^{(k)}-x^{*})+v^{(k)T}(Ax^{(k)}-b)]^{2} - v^{(k)T}(Ax^{(k)}-b)]^{2} + v^{*T}(Ax^{(k)}-b)$ in alternative proos: $= g^{(k)T}(x^{(k)}-x^{*}) + v^{*T}(Ax^{(k)}-b) + \rho \|Ax^{(k)}-b\|_{2}^{2} \oplus g^{(k)} \in \partial f(x^{(k)}) = \forall x \in domg \quad f(x) \to f(x^{(k)}) + g^{(k)^{T}}(x-x^{(k)})$ $f_{x}^{*} = g^{(k)^{T}}(\chi^{(k)} - \chi^{*}) + v^{(k)^{T}}A(\chi^{(k)} - \chi^{*}) + P(A\chi^{(k)} - b)^{T}A(\chi^{(k)} - \chi^{*})$ $\begin{bmatrix} y^{(k)} + A^T v^{(k)} + PA^T (A x^{(k)} - a) \end{bmatrix}^T \begin{bmatrix} x^{(k)} - x^{*} \end{bmatrix}$ $\begin{pmatrix} A \chi^{(k)} - A \chi^{*} = A \chi^{(k)} - b \\ A \chi^{(k)} - A$ $\frac{1}{2} = \frac{1}{2} \left\{ \chi^{(k)} - p^{*} + \gamma^{*T} \left(A \chi^{(k)} - b \right) + \rho \| A \chi^{(k)} - b \|_{2}^{2} \right\}$ $\chi := \chi^{*} \in \operatorname{dom} f \longrightarrow f(\chi^{*}) \gg f(\chi^{(K)}) + g^{(K)^{T}}(\chi^{*} - \chi^{(k)})$ γ^(κ)-γ* $\|z^{(k)}-z^{*}\|_{2}^{2} = \|z^{(k-1)}-z^{*}\|_{2}^{2} + \frac{\gamma^{2}}{k_{1}} - \frac{\gamma^{2}}{||z^{(k+1)}||_{1}} - \frac{\gamma^{2}}{||z^{(k+1)}||_{1}} - \frac{\gamma^{2}}{||z^{(k+1)}||_{1}} + \frac{\gamma^{2}}{||z^{(k+1)}||_{1}} - \frac{\gamma^{2}}{||z^{(k+1)}||$ 6-Ax^(K) $= \frac{1}{2^{(k+1)} - z^{*} \|_{z}^{2} + z} \sum_{i=0}^{k} \frac{Y_{i}}{\|T^{(i)}\|_{z}^{2}} T^{(i)T}(\overline{z}^{(i)} - \overline{z}^{*}) = \|\overline{z}^{0} - \overline{z}^{*}\|_{z}^{2} + \sum_{i=0}^{k} Y_{i}^{2}$ $\Leftrightarrow -g^{(k)} (X - \chi^{(K)}) = g^{(k)} (\chi^{(k)} - \chi^{*}) \gg f(\chi^{(k)}) - f(\chi^{*})$ = $f(x^{(h)}) + y^{*T}(Ax^{(h)} - b) + \frac{1}{2} ||Ax^{(h)} - b||_2^2 - p^* + \frac{1}{2} ||Ax^{(h)} - b||_2^2$ $= 9^{(k)^{T}} (\chi^{(k)} \chi^{*}) + v^{(k)^{T}} (A\chi^{(k)} b) + \rho \|A\chi^{(k)} b\|_{2}^{2}$ $\|\underline{z}^{(0)}-\underline{z}^{*}\|_{2}^{2} = \|\underline{z}^{(0)}-\underline{z}^{*}\|_{2}^{2} + Y_{0}^{2} - \zeta \frac{Y_{0}}{\|\underline{z}^{(0)}\|_{2}} T^{(0)T} \{\underline{z}^{(k)}-\underline{z}^{*}\}$ 20 $\leq ||z^{(0)}-z^*||_2^2 + \sum r_1^2 \leq 4R^2 + 5$ $L[x,v] = f(x) + \int ||Ax-b||_{2}^{2} + v^{T}(Ax-b)$ $\Leftrightarrow g^{(k)^{T}}(\chi^{(k)}-\chi^{*}) \not = f(\chi^{(k)}) - \rho^{*}$ $L(\chi^{(k)}, v^{*}) = f(\chi^{(k)}) + \frac{\rho}{2} || A \chi^{(k)} - b ||_{2}^{2} + v^{*T} (A \chi - b)$ 112¹⁰⁾-2*112 $\sum_{i=0}^{k} \|z^{(k+1)} - z^{*}\|_{2}^{2} + 2 \sum_{i=0}^{k} \frac{Y_{i}}{\|T^{(i)}\|_{2}^{2}} T^{(i)^{\dagger}}(z^{(i)} - z^{*}) \leq 4R^{2} + 5$ $l(x^{*},v^{*}) = f(x^{*}) + \frac{\rho}{2} || \Lambda x^{*} - b||_{2}^{2} + v^{*T} (\Lambda x^{*} - b) = f(x^{*}) = \rho^{*}$ = || 2 (1) ||2 + || 2 + 12 - 2 2101 2 + - 14 Cauchy-Schwartz: $|Z^{(1)T}Z^{*}| \leq ||Z^{(0)}||_{2} ||Z^{*}||_{2} \leq R^{2}$ $\max\{Z^{(0)T}Z^{*}, -Z^{(1)T}Z^{*}\} \leq R \leq R$ 5R2 5R2 52R2 $= L(X^{(k_2)}, V^*) - L(X^*, V^*) + \frac{p_1}{2} ||A X^{(k_2)} + ||_2^2 > 0$ E DOOD L.4.5 77 IN term? positive \$ 9R2 So (1) (क्षेत्र) १८ मिल कार (मान $-Z^{(0)T}Z^* \leq R^2$ राविकाय (हारे यांधारा वाराता ह . L(x^(K),V)-L(x^{*},V^{*}) 70 $\begin{array}{c} \vdots \quad \forall \quad T^{(k)^{T}}(\boldsymbol{z}^{(k)}-\boldsymbol{z}^{*}) \neq \quad L(\boldsymbol{x}^{(k)},\boldsymbol{v}^{*}) - L(\boldsymbol{x}^{*},\boldsymbol{v}^{*}) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequility for } T^{n}(R)T(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequility for } T^{n}(R)T(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequility for } T^{n}(R)T(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequility for } T^{n}(R)T(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequility for } T^{n}(R)T(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequility for } T^{n}(R)T(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequility for } T^{n}(R)T(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequility for } T^{n}(R)T(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequility for } T^{n}(R)T(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequility for } T^{n}(R)T(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequility for } T^{n}(R)T(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequality for } T^{n}(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequality for } T^{n}(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequality for } T^{n}(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequality for } T^{n}(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequality for } T^{n}(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequality for } T^{n}(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequality for } T^{n}(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequality for } T^{n}(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequality for } T^{n}(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequality for } T^{n}(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequality for } T^{n}(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequality for } T^{n}(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequality for } T^{n}(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequality for } T^{n}(R) + \frac{2}{2} \left[|A\boldsymbol{x}^{(k)}-b||_{2}^{2} \neq 0 \right] \quad \text{inequ$. . Y ||Z"-Z" ||2 \$ 9R2+S. $2\sum_{i=0}^{k} \frac{y_i}{||T|^{(i)}||_{2}^{2}} T^{(i)T}(Z^{(i)}-Z^{*}) \leq 4R^2 + S \# Bounded series with in a compact set, but <math>\sum x_k \leq \infty$, so for $\lim_{k \to \infty} \frac{1}{||T^{(k)}||_{\xi}} T^{(k)T}(z^{(k)}-z^{*})=0$ $\forall_{k} \| z^{(k)} - x_{k} T^{(k)} - z^{*} \|_{2}^{2} \leq 4R^{2} + S$? # need to figure out lat but $\|T^{(k)}\|_{2} \leq \Box$, so $\lim_{k \to \infty} T^{(k)T}(\overline{z}^{(k)} - \overline{z}^{(k)}) = 0$ $\Rightarrow \|T^{(k)}\|_{L^{\infty}} \leq \Box$ again. (1174 : $\forall \quad 0 \leq L(x^{(n)}, v^*) - L(x^*, v^*) + \frac{\rho}{2} \|A x^{(n)} - b\|_{2}^{2} \leq T^{(n')^{T}}(z^{(n)} - z^*)$ $\leftrightarrow \frac{L_1}{K \to \infty} \left(L(\chi^{(k)}, \gamma^*) - L(\chi^*, \gamma^*) + \frac{\rho}{2} \| A \chi^{(k)} - b \|_{2}^{2} \right) = 0$ $\begin{array}{c}
\downarrow \\
k^{+} \log \\
k^{+} \log \\
\end{array}$ $\begin{array}{c} L_{1} \\ k \rightarrow \omega \end{array} \begin{pmatrix} \lambda \\ k \end{pmatrix} = 0 \\ k \rightarrow \omega \\ k \rightarrow \omega$

EE 364b Convex Optimization II Page 2

$$\frac{1}{10^{10}} \frac{1}{10^{10}} \frac{1}{10^{10}}$$

 $i_i(x)_+$

EE 364b Convex Optimization II Page 4

$$\frac{1}{2} \left(\frac{1}{2} \left(\frac{1}{2} \left(\frac{1}{2} \right) \right)^{-1} \left(\frac{1}{2} \left$$



TT - 1 - -1=1 $\# g_{(k)}^{(k)} \in \partial_{x} f_{0}(X^{(k)}), g_{(k)}^{(k)} \in \partial_{x} f_{i}(X^{(k)})_{+}$ Repand - F(X^(K)) L $= K_{*} \left[\begin{array}{c} g_{0}^{(k)} + \sum_{i=1}^{m} (\lambda_{i}^{(k)} + P f_{i}(\chi^{(k)})) g_{i}^{(k)} \end{array} \right]$



| _(k)T | (14) +1 | 11 |
|-------|---------|----|
| T | [££.]%0 | A |

rest of the proof proceeds exactly the same as the equality constrained case. (READED) replace $A_{\lambda}^{(n)}_{b}$ with $F(x^{(n)})$ (1)